Exercise 11.1

Question 1:

If a line makes angles 90°, 135°, 45° with x, y and z-axes respectively, find its direction
cosines.

Answer

Let direction cosines of the line be I, m, and n.

{=cos90" =0

o 1
m=cosl35 __ﬁ

1
n=cosdsi"=—
NG

1
), ——, and —.
Therefore, the direction cosines of the line are ‘-"E "E

Question 2:

Find the direction cosines of a line which makes equal angles with the coordinate axes.
Answer

Let the direction cosines of the line make an angle a with each of the coordinate axes.

~l=cosa, m=cosa,n=cosa

Fam+n =1
= o5 @ +cos a+cosa=1

= 3cos =1

3 1
=08 o=—

=% C0sc =+

L]
&~
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Thus, the direction cosines of the line, which is equally inclined to the coordinate axes,

| | 1
+ +— . and +—

e B

ey

If a line has the direction ratios —18, 12, —4, then what are its direction cosines?
Answer

If a line has direction ratios of —18, 12, and —4, then its direction cosines are

-18 12 —
JE18Y +(12) + (=4 J(-18) + (12) +(=4)" \(-18)" +(12)] +(-4)
18 12 4
222" 22
9 6 -2
i
E,E,zmd—2

Thus, the direction cosines are I I I

Show that the points (2, 3, 4), (-1, -2, 1), (5, 8, 7) are collinear.

Answer

The given points are A (2, 3,4),B(—1,-2,1),and C (5, 8, 7).

It is known that the direction ratios of line joining the points, (xi, y1, z1) and (x2, y2, Z2),
are given by, x, — xy, ¥> — yi, and z, — z;.

The direction ratios of AB are (-1 — 2), (-2 - 3),and (1 — 4) i.e., =3, =5, and —3.
The direction ratios of BCare (5 - (- 1)), (8 — (- 2)),and (7 — 1) i.e., 6, 10, and 6.

It can be seen that the direction ratios of BC are —2 times that of AB i.e., they are
proportional.

Therefore, AB is parallel to BC. Since point B is common to both AB and BC, points A, B,

and C are collinear.
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Question 5:

Find the direction cosines of the sides of the triangle whose vertices are (3, 5, — 4), (-

1,1,2)and (- 5, -5, - 2)

Answer

The vertices of AABCare A (3,5, -4),B (-1, 1, 2),and C (-5, =5, —-2).

AL 54

B2 i—:‘_.fi_.—ll

The direction ratios of side AB are (-1 — 3), (1 — 5), and (2 — (—4)) i.e., —

Then,(—4)" +(~4)" +(6)' =V16+16+36

=68
=217
Therefore, the direction cosines of AB are
—4 -4 6
J( a} ) () +(6) J(~4) +(~4) +(6)
EJ_ zJ_ Nl?
2 2 3
i7 7T

The direction ratios of BC are (-5 — (-1)), (-5 —-1),and (-2 — 2) i.e., —

Therefore, the direction cosines of BC are
—4 — —4
Y)Y +(=6) +(—4) () +(=6) +(—4) J(—4) +(=6) +(—4)
—4 —6 -4

217720177 207

The direction ratios of CA are (=5 — 3), (-5 =5), and (-2 — (—4)) i.e.,

Therefore, the direction cosines of AC are
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4, -6, and —4.

-8,

, —4, and 6.

—10, and 2.
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-8 -5 2
JE8) +(10) +(2) (=8) +(10) +(2) (-8) + (10 +(2)

-8 =110 2

b NITR NI NIT)
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Exercise 11.2

Question 1:
Show that the three lines with direction cosines
12344123 3412
137137137137137137 13713713 are mutually perpendicular.
Answer
Two lines with direction cosines, /1, m;, n; and I, m,, n,, are perpendicular to each
other, if 1L + mim, + n1n, = 0
12 -3 -4 4 12 3

(i) For the lines with direction cosines, 13713713 and 13713713 , we obtain

12 4 3% 12 (-4 3
flfﬂ+.=:;lmﬂ+nln,:—x—+ ><—+[— w
. ) - 13 13

13 13 13)713
48 36 12
169 169 169

=0

Therefore, the lines are perpendicular.
4 12 3 3 412

(ii) For the lines with direction cosines, 13713713 and 13713713 , we obtain

4 3 12 [—4] 3 12
L, +mm,+nn, =—x—+—x| — |+ —x—
13 13 13 13 13 13
12 N 48 ; 36
169 169 169
=1

Therefore, the lines are perpendicular.
3 412 12 -3 -4

(i) For the lines with direction cosines, 13713713 and 13 13713 , we obtain

WWW. ncert hel p. con

wo9 diayuaou-mmm//:dny



(3 (12 (=4 (=3 (12 (=4
L +mm, +nn, =

= x| = |+ |xt_3|+t =3 J
a3 b i) i) L
_36 1248

169 169 169
=0

Therefore, the lines are perpendicular.

Thus, all the lines are mutually perpendicular.

Show that the line through the points (1, —1, 2) (3, 4, —2) is perpendicular to the line
through the points (0, 3, 2) and (3, 5, 6).

Answer

Let AB be the line joining the points, (1, —1, 2) and (3, 4, — 2), and CD be the line
joining the points, (0, 3, 2) and (3, 5, 6).

The direction ratios, a;, by, ¢y, of ABare (3 -1), (4 - (-1)),and (-2 — 2)i.e., 2, 5, and
-4,

The direction ratios, a,, b,, ¢, of CD are (3 — 0), (5 — 3), and (6 =2) i.e., 3, 2, and 4.
AB and CD will be perpendicular to each other, if a;a, + bib,+ ¢1c, =0

aia, + bibr+cic;b =2x3+5x2+(-4)x4

=6+ 10 - 16

=0

Therefore, AB and CD are perpendicular to each other.

Show that the line through the points (4, 7, 8) (2, 3, 4) is parallel to the line through the
points (-1, -2, 1), (1, 2, 5).

Answer

Let AB be the line through the points, (4, 7, 8) and (2, 3, 4), and CD be the line through
the points, (-1, =2, 1) and (1, 2, 5).

The directions ratios, a;, by, ¢;, of ABare (2 - 4), (3 -7),and (4 — 8)i.e., =2, —4, and
-4,

The direction ratios, a, by, ¢, of CD are (1 — (-1)), (2 = (=2)),and (5 - 1) i.e., 2, 4,

and 4.
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b

b, e

4] C

1
AB will be parallel to CD, if “2
a, 2

B B

(£

4

2
4
4

a _b ¢

a, b, :

L]

Thus, AB is parallel to CD.

Find the equation of the line which passes through the point (1, 2, 3) and is parallel to

the vector?"" +2j-2k .

Answer

It is given that the line passes through the point A (1, 2, 3). Therefore, the position

=427 +3k
vector through A is @ =/ 2/ +3k

b=3i+2j-2k

It is known that the line which passes through point A and parallel to b is given by

F=d+Ab, where 4 5 o onstant.

—F =f+2}+3£+4{3f+2j—2§)

This is the required equation of the line.

Find the equation of the line in vector and in Cartesian form that passes through the

point with position vector = —/ +4k and is in the direction | T2/ K,
Answer

It is given that the line passes througr} F]hCeEProfr}”tle\AfltB.pé)Cs)lrtTIon vector

wo9 diayuaou-mmm//:dny



i=2i—]+4k (1)

42—k ..(2)

s o
I
e

It is known that a line through a point with position vector d and parallel to b is given by
the equation, © =d+Ab

:>F=2r?—j+4f+£[l:f+2f—§)

This is the required equation of the line in vector form.

F=xi—yji+zk

= xi—yj+zk =(A+2)i +(24-1) ] +(-A+4)k

Eliminating A, we obtain the Cartesian form equation as

x=2 _ 1+ _ z-4

] 2 -1

This is the required equation of the given line in Cartesian form.

Find the Cartesian equation of the line which passes through the point

x+3 y-4 z+8

(=2, 4, =5) and parallel to the line given by 3 N 6
Answer
It is given that the line passes through the point (-2, 4, —5) and is parallel to

x+3 y-4 z+8

3 5 6
x+3 y-4 z+8
The direction ratios of the line, 305 6 ,are 3,5, and 6.
x+3 y-4 z+8
The required line is parallel to 2 5 6

Therefore, its direction ratios are 3k, 5k, and 6k, where k # 0
It is known that the equation of the line through the point (x;, y1, z1) and with direction

X=X, _V-y _z-g

ratios, a, b, c, is given by @ b C
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Therefore the equation of the required line is

x+2 y—-4 z+5

3k Sk 6k

x+2 v—-4 =435
] = - = = ff
3 5 [§]
x-5 y+4 z-6
The Cartesian equation of a line is 3 7 2| Write its vector form.
Answer

The Cartesian equation of the line is
—5 4 z-6

- = J = ’ . {1}
3 7 2

The given line passes through the point (5, —4, 6). The position vector of this point is

d=5i—4]+6k
Also, the direction ratios of the given line are 3, 7, and 2.

This means that the line is in the direction of vector, b=3i+7j+2k

It is known that the line through position vector d and in the direction of the vector ? is

given by the equation, © = d+Ah,AeR

=7 =(S5i-4]+6k)+ (37 + 7] +2)

This is the required equation of the given line in vector form.

Find the vector and the Cartesian equations of the lines that pass through the origin and
(5, -2, 3).
Answer

The required line passes through the origin. Therefore, its position vector is given by,

i=0 (1)

The direction ratios of the line through origin and (5, —2, 3) are

(5-0)=5,(-2-0)=-2,(3-0)=3
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- M % “
The line is parallel to the vector given by the equation, b=5i=2)+3k

The equation of the line in vector form through a point with position vector d and parallel

to big F=d+ib, AeR

:>f=ﬁ+,1(5£_z_}+3£)
::-F:i(if—z_}'—dﬁf]

The equation of the line through the point (x1, y1, z1) and direction ratios a, b, c is given
X=X _Y-»n_zI-5
by, ¢ b ¢
Therefore, the equation of the required line in the Cartesian form is
x=0 y-0 =z-0
3 =2 3

Find the vector and the Cartesian equations of the line that passes through the points (3,
-2, -5), (3, =2, 6).

Answer

Let the line passing through the points, P (3, —2, =5) and Q (3, -2, 6), be PQ.

Since PQ passes through P (3, —2, —5), its position vector is given by,

wo9 diayuaou-mmm//:dny

d=3-2j-5k
The direction ratios of PQ are given by,
(3-3)=0,(-2+2)=0,(6+5)=11

The equation of the vector in the direction of PQ is
b=0i-0j+11k=11k

The equation of PQ in vector form is given by, * ~d t40. A€ R

— =(3f—2_}'—5£]+1 LAk
The equation of PQ in Cartesian form is
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X-X _V-y _z-z

a b c e,

x=3 y+2 z45

0 0 11

Question 10:

Find the angle between the following pairs of lines:

F=2i-5j+k+A(3i —2j+6k )and

-=Tf—6£+,u[f+2j+2ﬁf]

=3+ i-2k+Ali— -2k
d ( / ]and
lef—j—ﬁfni+y(35—5}'—4ﬁf]
Answer

(i) Let Q be the angle between the given lines.

cos 0 === e

| : |

by =3f+2_;‘+6kand b,=i+2j+2k

The angle between the given pairs of lines is given by,

The given lines are parallel to the vectors,

I

respectively.

wb|=NF 427467 =T

=J) +(2) +(2) =3
b b, :[3E+2_}+6£)~(E+3}+2£)
=3x]+2=x24+6x2

=3+4+12
=19

o]
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= cos{ = %
*

—eoc [ 19
= =cos [21]

(ii) The given lines are parallel to the vectors,

respectively.

JB[= () (1) +(-2) =6

Bl =\(3) +(=5) +(~4)’ =50 =52
b -b, :[E—j—zé}(ﬁ—s_}—ﬁ]

:1-3—I[—5}—2{—4}
=3+5+8
=16

(=

cos() = |_ -

s ol

1]]~2

16 16 16

J6-5v2 V23502 1043

—cos{=

= cos(=

%
ool

Question 11:
Find the angle between the following pairs of lines:
-2 y=1 =z+3 2 y—-4 -5
X _Y _ +Jand X+ _) _
G) 2 3 -3 -1 8 4
i:l:—and x— =v—2=z—3
Gi) 2 2 1 B
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ii. Let b and b, be the vectors parallel to the pair of lines,

x=2 y=1_z+3 x+2 y-4 z-5
== = and = =
2 5 -3 -1 8 4 , respectively.
b 2:+5_}‘—3:€and b, =—i +8] +4k

B =\(2) +(5) +(-3) =38

= J(=1) +(8) +(4) =BT =9

b b, =[2§+5.}—3»’E]-(—f+8_}+4§)
=2(-1)+5x8+(-3)-4

~24+40-12
=26

b,

The angle, Q, between the given pair of lines is given by the relation,

b, b,
cos(J ===
]
26
::-cr:rsgzm
::-Q:cns“[%]

X
(ii) Let by by be the vectors parallel to the given pair of lines, 2

x=-5 y-5 z-3

4 I 8 , respectively.
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.-.|E||=\/{2}1+(2]1 +(1) =49 =3

b|=N# +F +8 = B1=9

b b, :[25+2}+£§)-(4f+}+3§]
=2x4+2x1+1x8

=8+2+8
=18
cos O = == 2
If Q is the angle between the given pair of lines, then '” "|
185 2
= C0s ==
Q Ix9 3
: 2
= {J=cos | —
0=
Question 12:
l-x Ty-14 z-3
Find the values of p so the line 3 2p 2 and

T-Tx y=5 6-:z

3p I 5

are at right angles.
Answer

The given equations can be written in the standard form as

x-1_ y-2 z-3 x-=1 _ y=5 z-6
-3 2p 2 =3p 1 -5
7 and 7
2p =3P s
The direction ratios of the lines are -3, 7 , 2 and 7 respectively.

Two lines with direction ratios, a;, b1, ¢; and a», b,, ¢», are perpendicular to each other, if
aia, + bl bz +cc=0
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A (=3pY (2p)
,L.(—._'ﬁ}‘| ? |+LT g
!
op 2
=P P _yp
77
= 11p=70
70

— p=—
P”

70

Thus, the value of pis 11 .

Question 13:
XS _y*2_ z X ¥y _:Z
Show that the lines 7 I and | 23 are perpendicular to each other.
Answer
x=5 _y+2 =z xX_y_=z
The equations of the given lines are 7 =5 and | 203

The direction ratios of the given lines are 7, =5, 1 and 1, 2, 3 respectively.
Two lines with direction ratios, a;, b1, ¢1 and a,, by, ¢,, are perpendicular to each other, if

aia, + by b, +cic;=0

27x14+(-5)x2+1x3

wo9 diayuaou-mmm//:dny

=7-10+3
=0

Therefore, the given lines are perpendicular to each other.

Question 14:
Find the shortest distance between the lines

:::(f+2j+§'}+ﬂ_(f—j+f)and

;:2;—j—£+;t(2?+_}+2£)
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Answer

The equations of the given lines are
;=(f+2j+§]+ ﬂ,(:‘"—jJrkﬂ)

;=2:?—j—£+;:(25+}+2!«:)

It is known that the shortest distance between the lines, F=a+ib and " T + b, , is
given by,
axa.tg_g\
d = ( _.) ( ) -(1)
6,%b| ‘

Comparing the given equations, we obtain

|
by = e

= b xby|=(-3) +(3) =\9+9 =18 =32

Substituting all the values in equation (1), we obtain
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(37 +3k) (i =3/ -2k

a =
W2

~3.143(-2)

—d=|—
32

9
—=d =

W2
g3 V232

2 _3x42 N2
V2222

33

Therefore, the shortest distance between the two lines is 2 units.

Question 15:
x+1 y+l z+l x-3
Find the shortest distance between the lines 7 -6 and
Answer
x+1 _ y+1_ z+1 x-3 y-5_ z-7
The given lines are 7 -6 1 and | o2

It is known that the shortest distance between the two lines,

XX, _ VoW _Z-n X=X, Y-y, I-Z
“ b ‘i = b, 2, is given by,
X, -, V- 5-2,
a, h, g
a, b, ¢

2 2 - (1}

d= =
\/{ be, —b.c, lI: + [c‘,uz -, :|: + {.r.qbz —a,h, }

Comparing the given equations, we obtain
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a =7 b=-6,¢c =1
.:1‘:_3._, J":_S, :_;_?

a, =1 b,=-2 ¢, =1
X, — X, Vo= -z |4 ) 8
Then,| gq, b, e, |=|7 -6 I
a, b, c, I -2 I
=4(-642)-6(7-1)+8(-14+06)
=—-l6-36-64
=-116

-

= J{h,c': —be) + (¢, —cua, )+ (e, —a,h ]3 = \,"I[—ﬁ +2) ¢ (1+7) +(-14 +6:|:
=116
=229

Substituting all the values in equation (1), we obtain

“116  -58 -2x29
/= L _ 229
“Td Y9 J9

Since distance is always non-negative, the distance between the given lines is

2’-"fﬁunits.

Question 16:

Find the shortest distance between the lines whose vector equations are
r=(i+2j+3k)+A(i 3] +2k)

and r =4F+5_}+6£+;:[2;’+3_}+£]

Answer

F=i+2j+3k+A(i-3j+2k)

r= 4f+5}+6+’£+;{[ﬂ+3j‘+§]

The given lines are and

It is known that the shortest distance between the lines, F=a+Aab, and ' ~ % + pb, , is
given by,
WWW. ncert hel p. con
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(6b,)-(a: -cﬁ)} (1)

o =

|h', ><h':|
Comparing the given equations with F=a+ab, and F=a,+ pb, , we obtain
G =i+2j+3k
bo=i—3j+2k
ar=4i +5]+6k
.F;: = 2f+3_}'+ﬁ;

@y —ay = (4 +5]+6k) (7 +2]j+3k) =37 +3]+3k

—(-3-6)i —(1-4) j+(3+6)k=-9i +3/+9%

|
L]
— b3 E

= b b= J(-9) +(3) +(9)' = VBI+0+81 =171 =319
[ql xﬂ_,]~(fu —{_JL.}=(—9;+3_}+9£}-(3f+3_;—+3£’“]
=—Ux3+3x3+9x3
=9
Substituting all the values in equation (1), we obtain

9 | 3

319 19

d=

3
Therefore, the shortest distance between the two given lines is V19 units.

Question 17:

Find the shortest distance between the lines whose vector equations are
F=(1=t)i+(r=2)j+(3-2r)kand

F=(s+1)i+(2s=1)j - (25 +1)k

Answer

The given lines are www. ncert hel p. comr
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r=(1=0)i +(r=2)j+(3-2)k
:>r:={:f—2_f+3!;]+:{:—f+_f—2ﬁ;] (1)

F=(s+1)i+(25-1)j—(25+1)k

:}F:[f—_}#f)+.-,-(::+2_}—2.f;) -(2)
It is known that the shortest distance between the lines, F=a+Ab, and
given by,
bxb)- (a2 -
1 2
|3 (@ -a)

| -(3)

<
For the given equations,
a=i-2]+3k
bo=—i+ )2k
ar=i-j—k
br=i+2]-2k

ar—a =(f—j—£)—(f—2j+3ﬁ:) =j—4k"

H ; i

hoxbh,=-1 1 2| =(-2+4)i —(2+2)j+(-2-1)k=2i -4 -3k
1 2 -2

= Bxby| = (2 +(~4) +(3) =VA=T659 =y

w(bixb,)-(a—ai) = (20 —4]-3k)-( - 4k) = -4+12=8
Substituting all the values in equation (3), we obtain

d=

8| 8
Jiﬁy_dﬁﬁ
8

Therefore, the shortest distance between the lines is V29 units.
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In each of the following cases, determine the direction cosines of the normal to the plane

and the distance from the origin.
(a)z — 2 (b) ,1.‘+_j-'—z =]

(C) 2.T+3_1'—:—5 (d)5y +8=0
Answer
(a) The equation of the planeisz=2o0or0x + 0y + z =2 ... (1)

The direction ratios of normal are 0, 0, and 1.

N0 D =1

Dividing both sides of equation (1) by 1, we obtain

Ox+0y+lz=2

This is of the form Ix + my + nz = d, where /, m, n are the direction cosines of normal to
the plane and d is the distance of the perpendicular drawn from the origin.

Therefore, the direction cosines are 0, 0, and 1 and the distance of the plane from the
origin is 2 units.

(b)x+y+z=1..(1)

The direction ratios of normal are 1, 1, and 1.

-(2)
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This equation is of the form Ix + my + nz = d, where /, m, n are the direction cosines of

normal to the plane and d is the distance of normal from the origin.

I
NohN

1
nd—
Therefore, the direction cosines of the normal are ¥ 3 "«E and the distance of

1

=]

normal from the origin is ¥~ units.
(c)2x+3y—-z=5..(1)

The direction ratios of normal are 2, 3, and —1.

.‘_\/{2}:+{3}:+(—1}: =14

*’-_j

Dividing both sides of equation (1) by ‘-"ﬁ, we obtain

| 3

2 3
x+ y— z
ViaT 14T J1aT 4
This equation is of the form Ix + my + nz = d, where /, m, n are the direction cosines of

normal to the plane and d is the distance of normal from the origin.

2 3 -1
. and
f1a e f
Therefore, the direction cosines of the normal to the plane are vl "JE 14 and

5

the distance of normal from the origin is ¥'™ units.
(d)5v+8=0

>0x—-5y+0z=8..(1)

The direction ratios of normal are 0, —5, and 0.
2 \J0+(-5) +0=5

Dividing both sides of equation (1) by 5, we obtain
8

p==
"5
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This equation is of the form Ix + my + nz = d, where /, m, n are the direction cosines of
normal to the plane and d is the distance of normal from the origin.
Therefore, the direction cosines of the normal to the plane are 0, —1, and 0 and the

8

distance of normal from the origin is 3 units.

Find the vector equation of a plane which is at a distance of 7 units from the origin and

normal to the vectorj” +5] _‘f"k

Answer

The normal vector is, =3i+5) -6k

at -

L i+5j-6k  3i+5]-6k

e J{} L) ey T

It is known that the equation of the plane with position vector ” is given by, Fea=d

:>n{3f+5j—6§

pol =L
| 70

This is the vector equation of the required plane.

=7

Find the Cartesian equation of the following planes:
Fli+j-kl=2  F(2i+3]-4k)=1
(a) ( ) (b) [ )

o Fo(s=20)i +(3-1) j+ (25 +1)k | =15

Answer

(a) It is given that equation of the plane is

Feoli+j-k)=2 (1)

For any arbitrary point P (x, y, z) on the plane, position vector ¥ is given by,
F= xf+}f—:a{'

WWW. ncert hel p. con
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Substituting the value of ¥ in equation (1), we obtain
(.rf+_j_:}'—z£)-(f +_;—£]: 2

= x+y—z=2

This is the Cartesian equation of the plane.

) Fo(20+3]-4k)=1 (1)

For any arbitrary point P (x, y, z) on the plane, position vector ¥ is given by,
F= xf+ﬁ—:£:

Substituting the value of ¥ in equation (1), we obtain

[_rf ko + z,é]-{zf F3j - dk)=1

= 2x+3y—4dz=1

This is the Cartesian equation of the plane.

© P (s=20)i +(3-1)j+ (25 +1)k | =15 (1)

For any arbitrary point P (x, y, z) on the plane, position vector ¥ is given by,
F=xi+y—zk

Substituting the value of ” in equation (1), we obtain
[.w:+_1;F—:;Q)-[{H—2#}?+{3—:]_}+{2.s‘+r}£i| =15
=(s—2)x+(3-1)y+(2s+1)z=15

This is the Cartesian equation of the given plane.

In the following cases, find the coordinates of the foot of the perpendicular drawn from
the origin.

(a) 2'T+3-1"+4Z_]2_ﬂ(b) Jpy+4z-6=10
(C) x+_j"+Z:.|(d) 5_]""8:”
Answer

(a) Let the coordinates of the foot of perpendicular P from the origin to the plane be

(X1, Y1, 21).
WWW. ncert hel p. con
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2X+ 3y +4z-12=0

>2x+3y+4z=12 .. (1)

The direction ratios of normal are 2, 3, and 4.

(2) +(3) +(4) =29

Dividing both sides of equation (1) by “'"ﬁ , We obtain
2 - 3 y+ 4 . 12

This equation is of the form Ix + my + nz = d, where /, m, n are the direction cosines of

normal to the plane and d is the distance of normal from the origin.

The coordinates of the foot of the perpendicular are given by

(Id, md, nd).

Therefore, the coordinates of the foot of the perpendicular are

(2 12 3 12 4 12 ). (24 36 48°

T T i) s

(b) Let the coordinates of the foot of perpendicular P from the origin to the plane be (x;,
Y1, 21).

Jy+dz—6=0

wo9 diayuaou-mmm//:dny

= UI+3J:+4::6... (1)

The direction ratios of the normal are 0, 3, and 4.
[ E—

SA0+3 +47 =5

Dividing both sides of equation (1) by 5, we obtain

)

f}x+§1'+i::—
57 5 3
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This equation is of the form Ix + my + nz = d, where /, m, n are the direction cosines of
normal to the plane and d is the distance of normal from the origin.

The coordinates of the foot of the perpendicular are given by

(/d, md, nd).

Therefore, the coordinates of the foot of the perpendicular are

i3 4 6 f

3o s s)

(c) Let the coordinates of the foot of perpendicular P from the origin to the plane be (x;,
Y1, Z1).

y+yv+z=] (1)

The direction ratios of the normal are 1, 1, and 1.

-3

Dividing both sides of equation (1) by V3 , we obtain

1 ] 1
X+—F—y+—F—2z=

1
E V3 J3 ﬁ

This equation is of the form Ix + my + nz = d, where /, m, n are the direction cosines of

R L b

normal to the plane and d is the distance of normal from the origin.
The coordinates of the foot of the perpendicular are given by
(Id, md, nd).

Therefore, the coordinates of the foot of the perpendicular are

P

(1 1 1 1 119,

‘ NERNERNEINE ”I' o \3‘3‘3,1'
(d) Let the coordinates of the foot of perpendicular P from the origin to the plane be (x;,
Y1, Z1).

Sv+8=0

1 #

=>0x —-5y+0z=8..(1)

The direction ratios of the normal are 0, —5, and 0.
WWW. ncert hel p. con
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2 J0+(=5) +0=5

Dividing both sides of equation (1) by 5, we obtain
8

1_' g
T3
This equation is of the form Ix + my + nz = d, where /, m, n are the direction cosines of
normal to the plane and d is the distance of normal from the origin.
The coordinates of the foot of the perpendicular are given by
(Id, md, nd).

Therefore, the coordinates of the foot of the perpendicular are

/ f N { )
0, 1|ff],n ie. |0 8,ﬂ|_
)

| A

) \ 5 )

Find the vector and Cartesian equation of the planes

(a) that passes through the point (1, 0, —2) and the normal to the plane is i+j—k .
(b) that passes through the point (1, 4, 6) and the normal vector to the plane is
;—2j+£_

Answer

(a) The position vector of point (1, 0, —=2) is a=i-2k

The normal vector IV perpendicular to the plane is N=i+j-k

The vector equation of the plane is given by, (F-d).N =0

:[;-‘-(E—zéﬂ.[?+_f—;§)_n (1)

¥ is the position vector of any point P (x, y, z) in the plane.
LF=xiv 4 =k

Therefore, equation (1) becomes

WWW. ncert hel p. con
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[ + 37+ 2K) = (7 = 26) | 7+ 7~ k) =0
:‘>|:|[x—I]lf+}_';+{z+2].&t:|.{f+j—£:)={l
=(x-1)+y-(z+2)=0

= x+y—z-3=10

= x+y-—z=3

This is the Cartesian equation of the required plane.

(b) The position vector of the point (1, 4, 6) is a=i+4j+6k

A _f A%,
The normal vector % perpendicular to the plane is N=i-2j+k

The vector equation of the plane is given by, (7 —a).N=0

=|i-(i+4j+6k)|(-2j+k)=0 ()

¥ is the position vector of any point P (x, y, z) in the plane.
LF=xi +_1;}*+ =k

Therefore, equation (1) becomes
[[,rh}_-h:»ﬁ_]—{f+4_}'+{:fg)]{f—2_?+f] =0

=[(x=1)i +(y=4)j+(z-6)k |- (i -2]+k) =0

= (x-1)-2(y-4)+(z-6)=0

—x—-2yv+z+1=0

This is the Cartesian equation of the required plane.

Question 6:

Find the equations of the planes that passes through three points.

(@) (1,1, -1), (6, 4, =5), (-4, -2, 3)

(b) (1,1,0),(1,2,1),(-2,2,-1)

Answer

(a) The given points are A (1, 1, —-1), B (6, 4, =5), and C (-4, -2, 3).
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| l -
6 4 —5=(12-10)-(18-20)~(~12+16)
-4 2 3

Since A, B, C are collinear points, there will be infinite humber of planes passing through
the given points.
(b) The given pointsare A (1,1, 0),B (1, 2,1),and C (-2, 2, —-1).

1 1 0
1 2 1 |=(-2-2)-(2+2)=-8=0
-2 2 -1
Therefore, a plane will pass through the points A, B, and C.
It is known that the equation of the plane through the points, { i) ""} {x” Y22 } nd
(xssj"s-:A}, is
X—x ¥y-» -z
X, -x, ¥,—¥ z,—z,|=0
H=X V=W 55
xr—1 v-1 =z
= 0 1 1 1=0
-3 1 -1

=(-2)(x=1)=-3(y-1)+3z=0
= —2x—-3v+3z+2+3=0

= —2x—-3y+3z=-5

= 2x+3y—3z=3

This is the Cartesian equation of the required plane.

Question 7:

Find the intercepts cut off by the planezx“‘}"— =
Answer
Z.Y""l-’—z:s ,“{lj
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Dividing both sides of equation (1) by 5, we obtain

X v =
—+=+—==]

It is known that the equation of a plane in intercept form is @ b ¢ , where a, b, ¢

are the intercepts cut off by the plane at x, y, and z axes respectively.

Therefore, for the given equation,

a =§,h =5 and c =-5

5
LJS5,and =35
Thus, the intercepts cut off by the plane are 2

Find the equation of the plane with intercept 3 on the y-axis and parallel to ZOX plane.
Answer

The equation of the plane ZOX is

y=20

Any plane parallel to it is of the form, y = a

wo9 diayuaou-mmm//:dny

Since the y-intercept of the plane is 3,

~a=23

Thus, the equation of the required planeisy = 3

Find the equation of the plane through the intersection of the planes

3'.{_“._2:_4_f}and .-T+__F+:—2—'Dand the pOint (2, 2, 1)

Answer
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The equation of any plane through the intersection of the planes,
3x—-y+2z—-4=0andx+y+z-2=0,is

(3x—y+2z—d4)+a(x+y+:-2)=0, where x € R (1)

The plane passes through the point (2, 2, 1). Therefore, this point will satisfy equation
(1).

S(3x2-242x1-4)+a(24+2+1-2)=0

= 2+3a=10
2
=S a=——
3
2
o ===
Substituting 3in equation (1), we obtain
7

(x-y+22-4)=S(x+y+2-2)=0

= 3(3x-y+2z-4)-2(x+y+2z-2)=0
= (9x=3y+6z-12)-2(x+y+z-2)=0
= Tx=5y+4z-8=10

This is the required equation of the plane.

Question 10:

Find the vector equation of the plane passing through the intersection of the planes

J"-(Ef+2_}'—3l';)=7, f.[zf+5j+3£)=t;
and through the point (2, 1, 3)

Answer

F-(2f+2j-3k)="7and r’-(:i+5}+3§):9
The equations of the planes are :

= F-(2i +2j-3k)-7=0 (1)
F-(zf+s_}'+3£}—9=u -(2)

The equation of any plane through the intersection of the planes given in equations (1)

and (2) is given by,

r--'25+2_}‘—3:E'—?}+A[F-'25+ﬁ_}+3£—fJ]:u _
[ [ ) { J , where4 € R
WWW. ncert hel p. con
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F -[[zh2_}—3£]+A[2§+5_}+3E]}= 94+7
F-[[2+2,i,]f+{2+5i]_}+{3ﬁ—3)£]=9&+? [3}

The plane passes through the point (2, 1, 3). Therefore, its position vector is given by,
F=2+2]+3k

Substituting in equation (3), we obtain

(2 +7-3k)[ (2+24)7 +(2+54) j+(34-3)k |=94+7
=(2+24)+(2+54)+(34-3)=94+7

= 18A-3=94+7

=04i=10
|
:>,1=—u
9
.10
A=—
Substituting 9 in equation (3), we obtain
I8 . . -
Fe —Ei'+ﬁj+§ﬁc]: 17
9 9 9

:F-(335+53}+3;€]:|53

This is the vector equation of the required plane.

Question 11:
Find the equation of the plane through the line of intersection of the planes
x+y+z=ly g 2x+3y+4z=5

which is perpendicular to the plane ¥~ % =0

Answer

The equation of the plane through the intersection of the planes, x+y+z=1 and
2x+3y+4z= 5, is
(x+y+z-1)+A(2x+3y+4z-5)=0

= (244 1)x+(3A+1)y+ (414 1)z~ (54+1)=0 (1)

The direction ratios, a;, by, ¢y, of this plane are (2A + 1), (3A + 1), and (4A + 1).

The plane in equation (1) is perpendicular to * ¥ = =0
WWW. ncert hel p. con
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Its direction ratios, a,, b,, ¢, are 1, —1, and 1.
Since the planes are perpendicular,

aa, +bb,+ce, =0
=(24+1)=(34+1)+(42+1)=0

=34i+1=0
= A=-
. 1
A===
Substituting 3in equation (1), we obtain
1 | 2
xX—=z =
3 3 3

=x—z+2=10

This is the required equation of the plane.

Question 12:
Find the angle between the planes whose vector equations are

F-[zhz}'—si]:sa F-(3E-3j+5§]:3_

nd
Answer

F-(Zf+2_}'—3£] =5

The equations of the given planes are and

It is known that if ""and " are normal to the planes, Foi =d

angle between them, Q, is given by,

iy iy

(1)

cos() =

|’_“l||”_":|
Here, i =20 +2j -3k and #, =37 -3+ 5k
wod iy = (2042 = 3K) (31 3] +5k) = 2.3+ 2,(=3) +(-3).5 =15
i =(2) +(2) +(=3) =7
= 3) +(3) +(3) =

WWW. ncert hel p. con
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F-(3E—3j+5§)=3

. _d
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_— i-i, h|and|i
Substituting the value of 1 , '| | 3|

=15

J17-443

in equation (1), we obtain

cos() =

::>c::is,Q—i

A 731
15

=cos (' = [—]
N 731

Question 13:

In the following cases, determine whether the given planes are parallel or perpendicular,

and in case they are neither, find the angles between them.
(a) Tax+3y+0z+30=0and 3x—p—10z+4=10

(b) 2.1'4‘__1-"" :'!l: _2 = ﬂ and .T—2r1-'+5 = U

(©) 2x-2y+4dz+5=0and 3x-3y+6z-1=0

() 2x—y+3z—-1=0and 2x—y+3z+3=0

(e) dx+8y+z—-8=0and y+z-4=0

Answer

L:ax+by+cz=0

The direction ratios of normal to the plane, , are a;, by, ¢; and

Liax+by+c,z=0are a,, b,, c,

- ) :
L|lL,if L=2=5
; il M A

L LL.if aa, +bb, +ecc,=0

The angle between L; and L, is given by,

aa, +bb, + ¢, ‘

\.;'ra,: +hl+el - Ja) +b +e) ‘
(@) The equations of the planes are 7x + 5y + 6z + 30 = 0 and

3x—-y—-10z+4=0

Here, a, = 7, bl =5,¢c;, =6

0 =cos”'
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i, =3, b: =—1~r_': =—10
aa, +bb, +cc, = ?x3+5x[—]]+5x[_1ﬂj =44 =0

Therefore, the given planes are not perpendicular.

4 _1b_5_sa_6_33

a, 3b, -1 e, -0 5
a.h,a
a, b ¢

It can be seen that,
Therefore, the given planes are not parallel.

The angle between them is given by,

?x3+5x{—]}+ﬁx{—]ﬂ}

Q=ﬂﬂ|$_] I ¥ 4 5 3 ¥ ¥
J(7) +(5) +(6) < y(3) +(=1)" +(~10)’
_ cos™! 21-5-60
SO =110
=C05_14—4
110
:::us"E
3

(b) The equations of the planes are 2% TV +32=2=05,4 x=2y+5=0

a=2,b=1c¢c =3 a, =1 b, =-2,¢c,=0
a - - -

Here, nd

Soaa, +bby +ec, = 2x1+1x(=2)+3x0=0
Thus, the given planes are perpendicular to each other.

(c) The equations of the given planes are 2x—2y+4z+5=04,4 Ix—3p+6z-1=0

a,=2,b-2,c=4

Here, and

a, =3, b, =-3,¢c,=6 aa,+hb,+cc,=2x3+(-2)(-3)+4x6=6+6+24=36=0

Thus, the given planes are not perpendicular to each other.

) 2 hz__zzz;]ndizd‘:j

d, EE -3 3 e, 6

3
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Thus, the given planes are parallel to each other.

(d) The equations of the planes are 2x=y+32-1=0 5,4 2x-y+3z+3=0

Here, @ =2 0=-La=3 jpqg @ =20 ="l =3
- _ e

4 _2 b Al a3

ay, 2 b, -l c, 3

a _b _«q

[£5% hj l:?:

Thus, the given lines are parallel to each other.

(e) The equations of the given planes are dr+8y+z-8=0,,4 y+z-4=0

CJ'|:41.IFJ‘|:8~C|=I f]'..:ﬂi,f].,:l,f_'-.:I
a 1 1 2

Here, nd

ad, +bb, +ce, =4x0+8x1+1=9=0

Therefore, the given lines are not perpendicular to each other.

a _4 b _8_
a, 0 b 1

hy

G 1
Ca

Therefore, the given lines are not parallel to each other.

The angle between the planes is given by,

Py t Ilr \I
, G 0+8x1+1=1 ) = COS '| ]_J=45°

JE 8 1P JO + 1P+ 1P 9x~2 L 42
WWW. ncert hel p. con
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Question 14:
In the following cases, find the distance of each of the given points from the
corresponding given plane.

Point Plane

(a) (0, 0’ o) 3..\:'—4__1."4' |22 =3

(b) (3 -2 1) 2x—y+22+3=ﬂ
(C) (2, 3, _5) X+ 2'1-’_2: =9
Answer

It is known that the distance between a point, p(xi, yi1, z1), and a plane, Ax + By + Cz =
D, is given by,

Ax, + By, + Cz, - D|

i =
Nrrawel

(1)

(a) The given point is (0, 0, 0) and the plane is 3x—4y+12z=3

3 3

\/m} 4y + uz}\ Jico 13

sd=

(b) The given point is (3, — 2, 1) and the plane is 2x—y+2z+3=0

2x3—(- )+2x1+3 13 13
Jer-y-er| B3

d =

(c) The given point is (2, 3, —=5) and the plane is X+2y-2z=9

‘2+2x3 2(-5) 9‘
N (2) +(-2) ‘ 30

(d) The given point is (=6, 0, 0) and the plane is

2x=3y+6z-2=0

WWW. ncert hel p. con
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d =

J2y +(

(-3) +(ﬁ}

2(-6)-3x0+6x0- zl ‘ 14| 14
49\_ R
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Show that the line joining the origin to the point (2, 1, 1) is perpendicular to the line
determined by the points (3, 5, —1), (4, 3, —1).

Answer

Let OA be the line joining the origin, O (0, 0, 0), and the point, A (2, 1, 1).

Also, let BC be the line joining the points, B (3, 5, —1) and C (4, 3, —1).

The direction ratios of OAare 2, 1,and 1 andof BCare (4 -3)=1, (3 -5)=-2, and
(-1+1)=0

OA is perpendicular to BC, if a;a, + bib, + ¢c1¢; = 0

waid, +bby+cic;=2x1+1(-2)+1x0=2-2=0

Thus, OA is perpendicular to BC.

If 11, my, ny and /,, m,, n, are the direction cosines of two mutually perpendicular lines,
show that the direction cosines of the line perpendicular to both of these are mn, —
myny, Ny — noly, Iimy — lLmy.

Answer

It is given that /1, my, n; and ,, m,, n, are the direction cosines of two mutually

perpendicular lines. Therefore,

L +mym, +nn, =0 (1)
IP+m+n =1 (2)
1" - mf + rr_? =1 ~(3)

Let /, m, n be the direction cosines of the line which is perpendicular to the line with

direction cosines /1, my, ny and /,, my, n».
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S+ g = 0
I+ mm, +nn, = 0

{ m : n

m, —myny ol —nd L, —1Lm,

& m "
= = - = .
(mm, —mm) (nl,=nd ) (L, —~Lm,)
s m n
$ — J—

(1, — mym, }: - (md, = n,, }3 - (4,m, —f:mz}?
I’ 0
= 2 2 2 '"{4)

(mp, —mm ) +(nd, —n0) +(Lm,—1m,)

/, m, n are the direction cosines of the line.

P+mP+nt=1..(5)

It is known that,

7

(f,: +m 4 )[.!" o ] ~(L1, + mm, +nn, )
= (myn, — m,n, }: +(md, —myl, }: +(dm, —Lm, }:
From (1), (2).and(3), we obtain

= LI-0=(mn, +m,n, ]1 +(ml, —nd, ]: +(Lm, —Lm, ]:

(2, — i, }2 +(nf, —nzf,]: +({,m, = 1,m, }: =1 ..(6)

Substituting the values from equations (5) and (6) in equation (4), we obtain
s m- "n

(mm, —m,n } [n [, —n I) (a’,m2 —J':m,]?

=l=mn,-mn.m=nl, -nl.n=Im, =I,m,

=1

—m,n,, ml, —nd and{ m,

Thus, the direction cosines of the required lin <t=_ ﬂ eI
WWW. ncer t hel p. corr
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Find the angle between the lines whose direction ratios are a, b, cand b — ¢,
c—a,a-—b.

Answer

The angle Q between the lines with direction cosines, a, b, cand b — ¢, c — a,

a — b, is given by,

alb—c)+b(c—a)+c(a—b) ‘

cos{)= = = =
Va' +b' + ¢+ \/[b —c) +(c—a) +{a—b)
=cos(=10

= (}=cos ' 0
= (J=90°

Thus, the angle between the lines is 90°.

Find the equation of a line parallel to x-axis and passing through the origin.
Answer
The line parallel to x-axis and passing through the origin is x-axis itself.

Let A be a point on x-axis. Therefore, the coordinates of A are given by (a, 0, 0), where

Direction ratios of OAare(a — 0)=4a, 0,0
The equation of OA is given by,
x—0 y-0 =z-0

Thus, the equation of line parallel to x-axis and passing through origin is
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If the coordinates of the points A, B, C, D be (1, 2, 3), (4,5, 7), (-4, 3, —6) and (2, 9,
2) respectively, then find the angle between the lines AB and CD.

Answer

The coordinates of A, B, C, and D are (1, 2, 3), (4,5, 7), (-4, 3, —6), and

(2, 9, 2) respectively.

The direction ratios of ABare (4 —1)=3,(5-2)=3,and(7-3)=4

The direction ratios of CD are (2 —(—4)) =6, (9 -3) =6, and (2 —(—-6)) =8

a_

It can be seen that, = 22 €
Therefore, AB is parallel to CD.

Thus, the angle between AB and CD is either 0° or 180°.

x-1 y-2 z-3 x=1_ y=1_ z-6
Ifthe lines —3 2k 2 and 3k 1 =5 are perpendicular, find the value
of k.
Answer
x=1_y=2 z-3 x=1 _y=1_z-6
The direction of ratios of the lines, -3 - 2k - 2 and & - I - -5 , are =3,

2k, 2 and 3k, 1, —5 respectively.
It is known that two lines with direction ratios, a;, by, ¢; and a,, b,, ¢, are
perpendicular, if a;a, + bib, + ¢ci¢; =0
3(3k )+ 2k 14 2[ 5}={}

= -9k +2k-10=0
= Thk=-10

—10
ER

=k
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Therefore, for 7 , the given lines are perpendicular to each other.

Find the vector equation of the plane passing through (1, 2, 3) and perpendicular to the

plane;‘--(hz}—sﬁ]w:u

Answer

— — I3 ~ gl o~
The position vector of the point (1, 2, 3) is R=i+2j+3k

r--(hzj-sf-_}w:u

The direction ratios of the normal to the plane, ,arel, 2, and -5

and the normal vector is ¥ =1 T2/ =5k
The equation of a line passing through a point and perpendicular to the given plane is

g|Ven by, I'r =F+ i.'"lp'-‘ AdE R

=] ={:f+2_F+3§J+A{:f+2_f—5f]

Find the equation of the plane passing through (a, b, ¢) and parallel to the plane
F-(E + j—fE) =2
Answer

B [ +i+ .ﬂ =2
Any plane parallel to the plane, : ’

Fo(f+j+k)=2 (1)

, is of the form

The plane passes through the point (a, b, c). Therefore, the position vector ¥ of this
point is Fo= nf+h_~f+c.-f;
Therefore, equation (1) becomes
[uf+1"??+<.'R:]-(f+.}'+.f;] =A

= a+h+c=4
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Substituting 4 =4a@+b+¢in equation (1), we obtain
F-(f+j‘+§)=a+b+c (2)
This is the vector equation of the required plane.

Substituting F=xi+ )+ 2k in equation (2), we obtain
(xf+;f+:§]-(f+}+§)=a+b+c

= x+v+z=a+b+e

Question 9:

F:Enf+2j'+2!f+&(f—2}‘+2ﬂ:)

Find the shortest distance between lines
F = —4E—£+;;(3F—2j—2§)

and .

Answer

The given lines are

F =6 +2j+2k+A(i-2]+2k) (1)

F=—di—k+ (31 -2]-2k) -(2)

It is known that the shortest distance between two lines, " ~ +4b, and " T +4b, ,is
given by

d= (;}1 x.h_,}-{ﬂz _'f_"l}

S -(3)
|

=a +4b and 7 = a, + 4b, to equations (1) and (2), we obtain

Comparing "

G, =6i+2j+2k
bo=i-2j+2k
d, =4 —k

b,=3i -2j-2k

= d, —d, (—4f—£)—(ﬁf+zj+2£) —107 =2 -3k
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box b, )-(a —a)=(8 +8)+4k)-(-10i =2 -3k)=-80-16-12=-108
(B 8.)-(@-a) = I )

Substituting all the values in equation (1), we obtain

—108

12

ﬂlz =g

Therefore, the shortest distance between the two given lines is 9 units.

Question 10:

Find the coordinates of the point where the line through (5, 1, 6) and

(3, 4, 1) crosses the YZ-plane

Answer

It is known that the equation of the line passing through the points, (xi, y1, z1) and (x5,

X-Xx, _y-y _ I-Z

L X — X fy — Vi Iy —Z
Y2, ZZ)I IS : : -!' -1 “2 !

The line passing through the points, (5, 1, 6) and (3, 4, 1), is given by,

x=5 y-l_z-6
3-5 4-1 1-6
-5 y=l z-
X5 ]= 6=k{say}
-2 3 -5

= x=5-2k y=3k+1, z=06-5k
Any point on the line is of the form (5 — 2k, 3k + 1, 6 —5k).
The equation of YZ-planeis x =0
Since the line passes through YZ-plane,
5-2k=0
5

= k==
2
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:>3k+1:3x;+1: 17

6-5k=6-5x> =13
2 2

(17 —-13
-
Therefore, the required point is =

Question 11:

Find the coordinates of the point where the line through (5, 1, 6) and

(3, 4, 1) crosses the ZX — plane.

Answer

It is known that the equation of the line passing through the points, (xi, y1, z1) and (x>,

X-X, _y-» _I-%

Yo, Z2), is N4 VM—h 53

The line passing through the points, (5, 1, 6) and (3, 4, 1), is given by,

x=5 y-l_z-6
-5 4-1 1-06
-5 y=l z-
X5 ]= 6=k{say}
-2 3 -5

= x=5-2k, y=3k+1, z=6-5k

Any point on the line is of the form (5 — 2k, 3k + 1, 6 —5k).
Since the line passes through ZX-plane,
Fk+1=10

:>a’c=—l
3

:>5—2&=5—2[—%]='—

6—5k=ﬁ—5[—l]=g
3)7 3

702

Therefore, the required point is( 3 3 .
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Find the coordinates of the point where the line through (3, —4, —=5) and (2, — 3, 1)
crosses the plane 2x + y + z = 7).

Answer

It is known that the equation of the line through the points, (xi, y1, z1) and (x2, y2, 22), is

X=X, y=y, _ zZ=-2z

X=X Wm-MN -

Since the line passes through the points, (3, —4, —5) and (2, —3, 1), its equation is

given by,

x-3 y+4 z+5

2-3 —3+4 1+5
x=3 y+4 z+45
-1 1 6

=x=3-k, v=k-4,z=06k-5

= k(say)

Therefore, any point on the line is of the form (3 — k, kK — 4, 6k — 5).
This point lies on the plane, 2x +y +z =7

22B3-k)+(k—4)+ (6k—=5)=7

=5k-3=7

= k=2

Hence, the coordinates of the required pointare (3 -2,2 —-4,6 x 2 —5)i.e,,
(1, -2, 7).

Find the equation of the plane passing through the point (-1, 3, 2) and perpendicular to
each of the planes x + 2y + 3z=5and 3x + 3y + z = 0.
Answer
The equation of the plane passing through the point (-1, 3, 2) is
alx+1)+b(y-3)+c(z-2)=0..(1)
where, a, b, c are the direction ratios of normal to the plane.
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ax+byv+ez+d =0 and X+ by+eo,z+d, =0

It is known that two planes, nd , are

perpendicular, if “1% +bb, +cc, =0

Plane (1) is perpendicular to the plane, x + 2y + 3z =5
Sd b 24e0.3=0

=a+2b+3c=0 -(2)

Also, plane (1) is perpendicular to the plane, 3x + 3y +z=0
Sa-3+h3+c-1=0

=3a+3b+c=0 -(3)
From equations (2) and (3), we obtain
i N h 3 C
2x1-3x3 3x3-Ixl 1x3-2x3
a b ¢
—=—=—=(say
-7 & =3 { ]

—a=-Tk, b=8k, c=-3k

Substituting the values of a, b, and c in equation (1), we obtain
?k{x [ I] P8k ( 3} 3k(z 2)=0

= (-Tx=T7)+(By-24)-3z46=0

= ~Tx+8y-3z-25=0

= Tx=By+324+25=0

This is the required equation of the plane.

Question 14:
If the points (1, 1, p) and (-3, 0, 1) be equidistant from the plane

Fe(3i+4j-12k)+13=0
: ’ , then find the value of p.

Answer
The position vector through the point (1, 1, p) is a=i+j+pk
Similarly, the position vector through the point (-3, 0, 1) is

d, =41 +k
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F-(SF+4j'—|2£E)+13=U
The equation of the given plane is

It is known that the perpendicular distance between a point whose position vector is

a-N-d
D=

o N
FeN=d, g given by,

d and the plane,
Here, N=3+4;-12k and g=-—13

Therefore, the distance between the point (1, 1, p) and the given plane is

‘[f+_f+pf]-[35+4j—]2!2)+13‘

D, = AN
‘3;‘+4_;‘—12k|
|3+4—|2p+|3\
Jz +47 +(-12)
=D - w (1)

Similarly, the distance between the point (-3, 0, 1) and the given plane is

‘(—35‘“+IE_]~[3§+4_}_12!E}+13‘

D, = L M
|3f 447 12k|
912413
p, = 07124 :
\/3:+43+[—1’_’]'
~D = -(2)

B

It is given that the distance between the required plane and the points, (1, 1, p) and

(-3, 0, 1), is equal.

~ D1 = D>
:}|2ﬂ—12p‘: 8
13 13
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=20-12p=8 or —(20~12p)=38
=12p=120r12p =28

7
:»p=|orp=§

Question 15:

Find the equation of the plane passing through the line of intersection of the planes

Foi+jek)=1_ Fo(2i43]-k)+4=0

and and parallel to x-axis.

Answer

The given planes are

r'-(f+}+kﬂ)=1

F-[zf+3_f—£)+4=u

The equation of any plane passing through the line of intersection of these planes is
[F-[Hj+§)—1]+A|:F-(Zf+3_}—§)+4:|=ﬂ

P A1) +(32+1)j+(1-A)k | +(42+1)=0 (1)

Its direction ratios are (2A + 1), (3A + 1), and (1 — A).

The required plane is parallel to x-axis. Therefore, its normal is perpendicular to x-axis.

The direction ratios of x-axis are 1, 0, and 0.
.'.1.[2A+1]+D{3&+l}+ﬂ|[|—;1}=!}

= 24+1=0
., 1
= A=——
2
R 1
A===
Substituting 2in equation (1), we obtain
1 -
=y |:—E_j'+5ﬁ'i|+{—3}=ﬂ
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Therefore, its Cartesian equationisy —3z+ 6 =0

This is the equation of the required plane.

If O be the origin and the coordinates of P be (1, 2, —3), then find the equation of the
plane passing through P and perpendicular to OP.

Answer

The coordinates of the points, O and P, are (0, 0, 0) and (1, 2, —3) respectively.
Therefore, the direction ratios of OPare (1 - 0)=1,(2-0)=2,and (-3 -0) = —
It is known that the equation of the plane passing through the point (xy, y; z1) is

u{.\'—,rl}-l—h{y—_r J+elz —_Ij =

1:]where, a, b, and c are the direction ratios of normal.
Here, the direction ratios of normal are 1, 2, and -3 and the point P is (1, 2, =3).
Thus, the equation of the required plane is

I[.r—l}+2{_v—2}—3{:+3} =0

= x+2y-3z-14=0

Find the equation of the plane which contains the line of intersection of the planes

F-[F+:j+3£)—4:u F-(zf+j—£]+5:u
’ , and which is perpendicular to the plane

Fo(5+3]-6k)+8=0

Answer

The equations of the given planes are

Foir2j43k)-4=0 (1)

;‘--(25+_,?-—;E‘}+5=u (2)

The equation of the plane passing through the line intersection of the plane given in
equation (1) and equation (2) is

[f{f+2j+3£]—4]+A[f{2f+j—£)+5} 0

Fol(2a+1)i+(2+2) j+(3-2) J(:‘n,{ )=0 . (3)
ncert hel p. con
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F-(Sf+3_}'—6ﬂ+8 =0
The plane in equation (3) is perpendicular to the plane,

S3(24+1)43(A+2)-6(3-4)=0
=194 -T=10

.7
= A=—
19

7

Substituting 19n equation (3), we obtain

. n 30 -
3. 45 5_.4&_

=r| i+ =10
[ J 19

19" 197 19
= r--[33f+45_}+5c}£)—41 -0 (4)

This is the vector equation of the required plane.

The Cartesian equation of this plane can be obtained by substituting © = ! * 3/ + K i
equation (3).

(xf k4 :JE}-(BBF F45 7450k )-41=0

= 33x+45y+50z-41=0

Question 18:

Find the distance of the point (-1, —5, —10) from the point of intersection of the line

r'=Zf—j+21"~:+i[34’7+4.}'+2'{:) F'(f_"h_ﬂ:S

and the plane
Answer

The equation of the given line is

Fo=20 - J+2k+ (31 +4] +2k) (1)
The equation of the given plane is
Fi-j+k)=5 -(2)

Substituting the value of  from equation (1) in equation (2), we obtain
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[zf—_h2£+A{3F+4_}+:£)](f—j+;?)=5

=[(32+2)i +(42-1)j+ (24 +2)k | -(I-j+k)=5

= (34+2)-(44-1)+(24+2)=5

= A=0

Substituting this value in equation (1), we obtain the equation of the line as
F=2i—]+2k

This means that the position vector of the point of intersection of the line and the plane
is F=2i—j+2k

This shows that the point of intersection of the given line and plane is given by the
coordinates, (2, —1, 2). The pointis (-1, =5, —10).

The distance d between the points, (2, —1, 2) and (-1, =5, —10), is

d=\(=1-2) +(=5+1) +(-10-2)" = o+ 16+144 =169 =13

Find the vector equation of the line passing through (1, 2, 3) and parallel to the planes

F:[f‘—j+2i5):5 F-(3f+j+ﬂ:]=ﬁ

and
Answer
Let the required line be parallel to vector b given by,

b=hi+bj+bk

The position vector of the point (1, 2, 3) is @ =/ + 2/ +3k

The equation of line passing through (1, 2, 3) and parallel to b is given by,
F=d+Ab
= F(i+2]4 3&} bA(Bi+b,j +bk) (1)

The equations of the given planes are
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Foli-je2k)=5 -(2)

P34 j+k)=6 -(3)

The line in equation (1) and plane in equation (2) are parallel. Therefore, the normal to
the plane of equation (2) and the given line are perpendicular.

::-(E —_}+2§)-A(h,f+hl}'+h_i)= 0

=» A(b b, +2b,)=0

= b —b,+2b,=0 ~(4)

Similarly, [3;’+_,?+;E]-A(h,?+h:_}+b,\£] —0

= A(3b, +b,+b,)=0

=3h +h,+bh, =0 -(3)
From equations (4) and (5), we obtain

b, b, b,
(<1)x1=1x2 " 2x3—1x1  Ix1-3(-1)

b _b_b

=3 5 4

Therefore, the direction ratios of b are -3, 5, and 4.

b :b,f+b:j'+b3.f; =—3f+5j+4§

Substituting the value of b in equation (1), we obtain
F = [f+2_}+3£)+A(—3F+5_}+4;€]

This is the equation of the required line.

Question 20:
Find the vector equation of the line passing through the point (1, 2, — 4) and
-8 p+19 =z—10 x=15 y-29 =z-5
o) = and = _2 =
perpendicular to the two lines: 3 —l6 7 3 8 -5

Answer

Let the required line be parallel to the vector b given by, b=bi+b,j+bk
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The position vector of the point (1, 2, — 4) is @ =1 T2/ —4k

The equation of the line passing through (1, 2, —4) and parallel to vector bis

F=d+Ah
= F(i+2] 4k )+ 2(bi +b,] +bik) (1)
The equations of the lines are
x—8 y+19 z-10 {,,}
3 -16 7 T
¥=15 »=-29 =z-35 -
e -(3)
Line (1) and line (2) are perpendicular to each other.
5 3b —16b, +Th, =0 {4}
Also, line (1) and line (3) are perpendicular to each other.
< 3b +8b, =56, =0 -(3)
From equations (4) and (5), we obtain
IF.'II _ h.‘ _ h
(-16)(-5)-8x7 7x3-3(-5) 3x8-3(-16)
b b, b
:>—:—'_ _——
24 36 72
= b _b _ by
2 3 6

~Direction ratios of ? are 2, 3,and 6.

h=20+3]+6k

Substituting b=2i+3j+6k in equation (1), we obtain

F=(i+2]-4k)+2(20 43+ 6k )

This is the equation of the required line.
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Question 21:
Prove that if a plane has the intercepts a, b, ¢ and is at a distance of P units from the
| 1 | ]

e A 5 »

a b op

origin, then
Answer
The equation of a plane having intercepts a, b, ¢ with x, y, and z axes respectively is

given by,

£+£+£=1 []}

a b ¢

The distance (p) of the plane from the origin is given by,

Question 22:

2x+3y+4z=4 dx+6y+8z=12

Distance between the two planes: and
(A)2 units (B)4 units (C)8 units

4

(D) V29

Answer

units

The equations of the planes are

2x+3y+4z= (1)
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dry+6y+82=12
= 2x+3v+4dz= w(2)

It can be seen that the given planes are parallel.
It is known that the distance between two parallel planes, ax + by + cz = d; and ax + by

+ ¢z = d,, is given by,

d, —d,
D= .
Na + b+
= D= [ 6_1 ;
Y2y 67+ 4y
]
D=-=

2
Thus, the distance between the lines is V29 units.

Hence, the correct answer is D.

The planes: 2x — y + 4z =5 and 5x — 2.5y + 10z = 6 are
(A) Perpendicular (B) Parallel (C) intersect y-axis

(002)
(C) passes through
Answer
The equations of the planes are
2X—y+4z=5..(1)
5x = 2.5y + 10z =6 ... (2)

It can be seen that,
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a 2

a, 5

b -1 2

b, 25 5
.4 2

¢, 10 5
a b _q
a b oo

Therefore, the given planes are parallel.
Hence, the correct answer is B.
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